

Transfers Report

This report contains the transfers results.

Contest Name

Dingwall and Seaforth

Valid Votes

4,640

Positions to be Filled

4

Quota

929

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Gavin BERKENHEGER	Scottish Conservative and Unionist	650
Les HOOD	Scottish Labour Party	216
Sean Edward KENNEDY	Independent	599
Graham Alexander MACKENZIE	Scottish National Party (SNP)	1,494
Angela MACLEAN	Scottish Liberal Democrats	773
Margaret PATERSON	Independent	698
Thomas WIDROW	Scottish Greens - Delivering For Our Community	210
Total		4,640

Candidate Graham Alexander MACKENZIE Elected with 1,494 votes, being in excess of the quota of 929

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of Graham Alexander MACKENZIE

565.00000

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gavin BERKENHEGER	25	0.37817	9.45425
Transfer to Les HOOD	89	0.37817	33.65713
Transfer to Sean Edward KENNEDY	170	0.37817	64.28890
Transfer to Angela MACLEAN	214	0.37817	80.92838
Transfer to Margaret PATERSON	358	0.37817	135.38486
Transfer to Thomas WIDROW	413	0.37817	156.18421
No further preference	225	0.37817	85.08825
Not transferred due to rounding			0.01402
		Total	565.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Les HOOD

249.65713

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gavin BERKENHEGER	27	1.00000	27.00000
Transfer to Sean Edward KENNEDY	27	1.00000	27.00000
Transfer to Angela MACLEAN	84	1.00000	84.00000
Transfer to Margaret PATERSON	26	1.00000	26.00000
Transfer to Thomas WIDROW	26	1.00000	26.00000
Transfer to Gavin BERKENHEGER	4	0.37817	1.51268
Transfer to Sean Edward KENNEDY	10	0.37817	3.78170
Transfer to Angela MACLEAN	26	0.37817	9.83242
Transfer to Margaret PATERSON	12	0.37817	4.53804
Transfer to Thomas WIDROW	18	0.37817	6.80706
 No further preference	26	1.00000	26.00000
No further preference	19	0.37817	7.18523
Not transferred due to rounding			0.00000
Total			249.65713

Transfers Report

This report contains the transfers results.

Stage 4 - Surplus of Angela MACLEAN

18.76080

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gavin BERKENHEGER	153	0.01979	3.02787
Transfer to Sean Edward KENNEDY	142	0.01979	2.81018
Transfer to Margaret PATERSON	338	0.01979	6.68902
Transfer to Thomas WIDROW	83	0.01979	1.64257
Transfer to Gavin BERKENHEGER	7	0.00748	0.05236
Transfer to Sean Edward KENNEDY	26	0.00748	0.19448
Transfer to Margaret PATERSON	99	0.00748	0.74052
Transfer to Thomas WIDROW	57	0.00748	0.42636
 No further preference	 141	 0.01979	 2.79039
No further preference	51	0.00748	0.38148
Not transferred due to rounding			0.00557
		Total	18.76080

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Thomas WIDROW

401.06020

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gavin BERKENHEGER	6	1.00000	6.00000
Transfer to Sean Edward KENNEDY	24	1.00000	24.00000
Transfer to Margaret PATERSON	93	1.00000	93.00000
Transfer to Gavin BERKENHEGER	11	0.37817	4.15987
Transfer to Sean Edward KENNEDY	53	0.37817	20.04301
Transfer to Margaret PATERSON	180	0.37817	68.07060
Transfer to Gavin BERKENHEGER	5	0.01979	0.09895
Transfer to Sean Edward KENNEDY	8	0.01979	0.15832
Transfer to Margaret PATERSON	25	0.01979	0.49475
Transfer to Gavin BERKENHEGER	1	0.00748	0.00748
Transfer to Sean Edward KENNEDY	4	0.00748	0.02992
Transfer to Margaret PATERSON	18	0.00748	0.13464
 No further preference	113	1.00000	113.00000
No further preference	187	0.37817	70.71779
No further preference	45	0.01979	0.89055
No further preference	34	0.00748	0.25432
Not transferred due to rounding			0.00000
		Total	401.06020

Transfers Report

This report contains the transfers results.

Stage 6 - Surplus of Margaret PATERSON

104.05243

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gavin BERKENHEGER	130	0.10072	13.09360
Transfer to Sean Edward KENNEDY	382	0.10072	38.47504
Transfer to Gavin BERKENHEGER	19	0.03809	0.72371
Transfer to Sean Edward KENNEDY	266	0.03809	10.13194
Transfer to Gavin BERKENHEGER	50	0.00199	0.09950
Transfer to Sean Edward KENNEDY	144	0.00199	0.28656
Transfer to Gavin BERKENHEGER	6	0.00075	0.00450
Transfer to Sean Edward KENNEDY	45	0.00075	0.03375
No further preference	305	0.10072	30.71960
No further preference	265	0.03809	10.09385
No further preference	169	0.00199	0.33631
No further preference	66	0.00075	0.04950
Not transferred due to rounding			0.00457
		Total	104.05243

Transfers Report

This report contains the transfers results.

Stage 7 - Exclusion of Gavin BERKENHEGER

715.23477

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Sean Edward KENNEDY	331	1.00000	331.00000
Transfer to Sean Edward KENNEDY	18	0.37817	6.80706
Transfer to Sean Edward KENNEDY	67	0.10072	6.74824
Transfer to Sean Edward KENNEDY	7	0.03809	0.26663
Transfer to Sean Edward KENNEDY	62	0.01979	1.22698
Transfer to Sean Edward KENNEDY	6	0.00748	0.04488
Transfer to Sean Edward KENNEDY	26	0.00199	0.05174
Transfer to Sean Edward KENNEDY	6	0.00075	0.00450
No further preference	352	1.00000	352.00000
No further preference	22	0.37817	8.31974
No further preference	63	0.10072	6.34536
No further preference	12	0.03809	0.45708
No further preference	96	0.01979	1.89984
No further preference	2	0.00748	0.01496
No further preference	24	0.00199	0.04776
Not transferred due to rounding			0.00000
Total			715.23477